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(COMMON TO VARIOUS SEMESTERS)
COMPUTER TECHNOLOGY
XCS 364 — INTERNET PROGRAMMING
(REGULATIONS 2007)
{Common to IT, S/W)
Time : Three hours . Maximum : 100 marks
Answer ALL queé;ions.

PART A — (10 x 2 = 20 marks)
1. Why is Java called as a platform independent language?
List the applications that can be created using Java?
What cannot be done once a variable is declared as ‘final’?
Why does a static method not have a ‘this’ reference?
‘What is meant by dynamic method binding?
Describe the types of inheritance available in Java.

Write notes on thread synchronization.
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What is checked exception? Name any two.




[image: image2.png]10.

11

12.

‘What are the three series of methods called by an ap
When do we use the CODEBASE attribute?

PART B — (5 x 16 = B0 marks)

(@) (1) Explain about iffelse, while and do
control structures of java with s
examples.

(ii) Write a program to read two integers anc
whether it is odd or even.

Or

() () Write a Java Program to determine the ¢
the following harmonic series for a given
1+1/2+1/3+..1n.

(i) Define scope of a variable. What ar
different types of scope for variables? Ex

(a) () Differentiate between overloading
overriding. .

(i) Write a program that creates a vectos
reads names of student from user. Insert
name at the beginning and college name
University’ at the end of it. Write a m
called delete () that removes the elemen
the list. Use vectors.

Or
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Define and overload method called area (
calculate the area of square, rectangle
triangle.

Write a program to sort strings using st
functions.

Create a package called Account that hol
class containing the details of a customer
returns the balance. Write down the ster
create and use the same in another class.

Demonstrate the two usage of super keys
with example.

Or

Explain the various forms of implemer
interfaces.

Write a program to caleulate the salars
employees. There are three types of emplc
namely daily wage employees, piece
workers and regular employees, For rej
employee, salary is to be calculated consids
allowances and deductions. Daily wages
calculated based on the number of
worked ang for piecemeal workers it is |
on the number of items produced. Use
concept of inheritance.

Write a program that reads file and copies
another file.

Explain the life cycle of a thread.

Or
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Write a program the reads student marks
3 subjects along with their name from
console and writes it into a file. Calculate
total marks and the percentage. Print
name and percentage of marks. Use str
Tokenizer class, (

Define a user defined exception called
Match Exception” and use in a program t
throws an exception if the string is not equa
‘New Delhi’.

How should parameters be passed to appl
Write a program to receive hame and inc
for an employee and calculate the annual
using the slab given below : \

Income Tax %
Up to 150000 Nil
1,50001 - 300000 10 %
Above 31 ak 25%

How do remote applets work? Explain.
Or

Write an applet that reads input values
meter reading, customer id, customer add
in text fields from the user. Display the t
amount.

Explain the life eycle of the applet.





